E

ol

0
1ol

il
3N
Jor
O

oll

70
o0
S+
E
o
o

= 7He

ol

ot 7|=& HMSot7| fldh A& €= ZEO|Ch

11

7
2

b O[3l E

e
o
—

A XHHof o

=
[
ot flal 7H & Z ALt

Al
=

=1 @S|
==

=

J

= gE 2g,

o
T

g .= O0| =29 Xp7 | =7, Faraday

—

Jod
0

e

== <
"J\I|:I'j|§!°|'t

ot 2218 MAE

IHo

i
ol
<+

B
K-

2| /

=

o
A HO|H

[=x|
=

Al
=

Of 5

t

—_

-

o
/ ZE|OE et HL|O| Z2|EHA| ALY

/ 58 ZH[of|

EH
=

F

H2{O|0] Y-S E / Faraday's ice pail experiment / 2% 7|
H2{Cllo] €& / Faraday's ice pail experiment /

I
I

Ol 5

b

—

.
()

A 7 HH|off o
b HIO|E

=13
<]

17|/ 718

of

%0
KIr

ofl

o
ot
oK
My
o
~
%0
KIr
o I
I oK
~ F1
ol 1o
K 7
oF Sy
~
®rORM
1 %I
ol of
Mo Mo
mhu
K-
(98]

! 4|O|H




E|
ol

30
1ol

<0 B
70 Hl

nH __ Kl ol

QA_ mu.ﬂﬂ T

B K o = R’

HeE (kT [0
R o L )
Kr ~ ~ v zr of I
By [BR A B
w ﬂﬂ |_ﬂ_||_H_O //H_O
©
S |mom  |KOw MR
L 10 mio <0 T 210 o AIr
~ m| K oo Eﬂ%womxmkmk
o T|M WS e i
m._Am._AOOEIn_._AD._AD._A///
W mo|oK oK OK| W m ®0|®0 B0 R
S | fr 0| oH oF <u|<u < <
~ ~|°oH o M| > > I K
T ®O| ~ ~ ~[<0 <0 <0|{m <u <
(e K ) Ko Ko Ko
mrogr| ¥l o ©fjul Ul Ujo o o
HLHLKKKDLDLDLOl_Ol_Ol_
NN ZEERAR D DO
H U [mE aE uE(K KL KNS 33
okoEll @ HE AL 22
K K Kk K
(e)) o — o~

oo
o3
<+

i
K0
Ki

4

2ol k2t

F

<0

by |

YouTube

https.//www.youtube.com/@csacademy999



https://www.youtube.com/@csacademy999

